Petroleum Engineering 311
Test 2
January 22, 2002

1. Calculate the porosity of a limestone sample given the following data.

mass of dry sample 2410¢g
mass of dry sample coated with paraffin 2495 ¢
volume displaced by coated sample 125.0 cm3
density of limestone 2.71 g/lcm3
density of paraffin 0.90 g/cm3
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2. Is the result in problem 1 above total or effective porosity? Justify your answer.
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3. Suppose you are using a helium porosimeter to determine the matrix volume of a
limestone core. The volumes Cell 1 and Cell 2 are 6000.0 cm3 each.

a. Find the final volume if Cell 1 is initially charged with helium at 90.0 psia and
the final pressure (after placement of the core in Cell 2, evacuation of Cell 2, and
opening the valve) is 65.5 psia. ’
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b. What is the bulk volume of the core in cm3 if its diameter is 3 inches and its
length is 3 ft? 3
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